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| Quick Review 7.4

1 Find % and leave answers in.terms of &

(a) x= 2t _ 1-¢
+2 ) T 1t 2
1 t
b) x= sy =
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(d) x= 17 T 1ot
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2 Find az, and express your answers in terms
X

of x where possible'

3t
(@) x= t+2’y_ t+3
(b) x=1,y="1
(c) x=1+ty=3*-1
(@ x=#,y= £

. . d .
3 Find —&f—c, and express your answers in terms

P of x where possible:

’ (a) x=sint, y=1+cos? ¢
(b) x=asect,y=Dbtant
(c) x=acosty=bsint

4 Find the equations of the tangents and
normals to the following curves at the
points indicated:

(@) x=0@-2)(t+2), y=1tt-2)(t+ 2),

(b) x= t2;}’= t3> (1: _1)
(c) x=3cost,y=2sint, (%, V3)
(d) x=48,y=314,(4,3)

Find the equations of the tangents and
normals to the following curves at the
points whose parameter is #:

(a) x———cost,y*—'btant
(b) x= £, y=3¢

(c) x=2t,y= 1
(d) x=acost,y=bsint

Show that the tangent to the curve
y==2af’, x=3af + 2a

at the point with parameter ¢ is also the
normal to the curve y = 2at, x = a# at the
point with parameter ¢

Show that the tangent at the point ¢ on the’
curve x = a cos® &, y = a sin® ¢ is the line

ycost+ xsin t=asin tcos t

Show that the tangent meets the axes in
points whose distance apart is a.

Find the equation of the tangent and
normal to the curve

x=R-fRy=£f-1

(-3, -3) at the point (4, 3).
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1 (a) _'ITttz— (© ';;‘i‘ 5 (a) bxsect—aytant= ab
L axsin t+by= (2+P)tant
() —= (d) 2t~ 2 (b) 2= 2y = 6P
Lyt R0,y Fa= K2 +2)
2 (a) % (c) 6(x-1) ) bx cos t+aysmt ab
o1 axsin t— by cos t= (a* - b?) sin t cos t
() %\fi @ — 6 y+ix=2at+ ad
2 8 x-2y+2=0,2x+y=11
3 (a) —2x © -2=
a’y
bx
b) —2X
®) alx? - a

4 (a) 2y+x+9=0,2x-y+3=0
(b) 2y+3x=1,22x-3y=5
(c) 3By+2x=12,6/3x—4y="53
(d) y~x+1=0,y+x=7




